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{D) Buyers would spend atotalof __________ million on Greebes.

(E} Sellers would receive a total of million (after tax) from selling Greebes.
(F) The government revenue from this tax would be million.
(G} . million of this revenue would be paid by buyers in the form of higher prices.
{H) ; million of this revenue would be paid by sellers in the form of reduced income.

(1} As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equal to million.
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{D} Buyers would spend a total of _f,}_g?____ million on Greebes.
(E} Sellers would receive a total of ___% U2 million (after tax) from selling Greebes.
(F) The government revenue from this tax would be ___ million.

(G} _ﬁ__’ﬁ'Q__ million of this revenue would be paid by buyers in the form of higher prices,

w___ @

million of this revenue would be paid by sellers in the form of reduced income.

(1} Asa result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equalto ___ O million.
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(D) Buyers would spend atotalof ______ million on Greebes.

(B} Sellers would receive a total of million (after tax) from selling Greebes.

(F} The government revenue from this tax would be million.
(G} million of this revenue would be paid by buyers in the form of higher prices.
{H) million of this revenue would be paid by sellers in the form of reduced income.

(I} As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equal to million.
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{D) Buyers would spend a total of million on Greebes,

(E) Sellers would receive a total of million (after tax) from selling Greebes.

(F} The government revenue from this tax would be million,

(G) _________ million of this revenue would be paid by buyers in the form of higher prices.
(H) million of this revenue would be paid by sellers in the form of reduced income.

(1) As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equal to million.

https://books.google.com/books?id=CG07jmPr] YC&pg=PA103&Ipg=PA103&dg=AP+Economics+Morto
n+%2B+elasticity+and+taxes&source=hl&ots=0y 291sVDh&sig=ACfU3U2YQ-
FH8GNHUGYU20HNndyDWCPALyw&hl=en8sa=X&ved=2ahUKEwih59mA7rTIAhWIXFKKHWB7BWSQEAEWE
30ECAcQAQ#v=onepage&g=AP%20Economics%20Morton%20%2B%20elasticity%20and%20taxes&f=fals
e





image11.jpg
Perfectly Elastic Demand for Greebes

50
45
40
35

ER GREEBE

pric *—3—‘&5‘7‘/ —n,
consume- @ 207 '
& s —
Prmeé&buu o
4eb .05

9 @ 100 150 @ 250 300
55 . QUANTITY (milions of Greabes)

{D} Buyers would spend a total of million on Greebes.

(E) Sellers would receive a total of million (after tax) from selling Greebes.

(F) The government revenue from this tax would be million,
(G) million of this revenue would be paid by buyers in the form of higher prices.
(H) million of this revenue would be paid by sellers in the form of reduced income.

{I) As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue losswould be equalto __________ million.

https://books.google.com/books?id=CG07imPr) YC&pg=PA103&Ipg=PA103&dg=AP+Economics+Morto
n+%2B+elasticity+and+taxes&source=bl&ots=0y 29IsVDh&sig=ACfU3U2YQ-
FH8GnHUGQUZoHndvDWCP4va&hI=en&sa=X&ved=ZahUKEwih59mA7|;TIAhW!kaKHW B7BWS8Q6AEWF
30ECACQAQ#v=0nepage&q=AP%20Economics%20Morton%20%2B%20elasticity%20and%20taxes&f=fals
e
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{D) Buyers would spend a total of /2.5 _ miltion on Greebes.
(E) Sellers would receive a total of S million (after tax) from selling Greebes.
(F} The government revenue from this tax would be _,Z_}_ million,
(G) & __million of this revenue would be paid by buyers in the form of higher prices.
- e
(H)__ /9 million of this revenue would be paid by sellers in the form of reduced income.

(I} As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is n?collcctcd by the government. In this case, the
uncollected revenue lass would be equal to # 3 7. 5™ million.

https://books.google.com/books?id=CGO07imPr) YC&pg=PA103&Ipg=PA103&da=AP+Economics+Morto

n+%2B+elasticity+and+taxes&source=bl&ots=0y_29IsVDh&sig=ACfU3U2YQ-
FH8GNHUGY9U20HNndyDWCPALYyw&hi=en&sa=X&ved=2ahUKEwjh59mA7rTIAhWIXFkKHWB7BWS8Q6AEWF
30ECACQAQ#v=onepage&qg=AP%20Economics%20Morton%20%2B%20elasticity%20and%20taxes&f=fals
e
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1. The state of Connecticut needs to raise revenue for several new schools construction projects.
The State representative have many options available to choose. Analyze the following options
using elasticity, efficiency loss and total revenue tax collection. The state legislatures narrowed
their decisions between these two options:

A. Sales Tax
B. Cigarette Tax

2. The state of New York needs more revenue to cover their deficit spending this year. They
decided to tax cereal and was surprised that the amount of revenue collected was limited You
were brought in as a consultant in this matter. Explain the reason for this outcome using
elasticity, efficiency loss and total revenue tax collection. Use a correctly labeled graph to assist
your explanation.
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(DD} Buyers would spend a total of million on Greebes.

{E) Sellers would receive a total of million {after taxj from selling Greebes.
{F) The government revenue from this tax would be million.

(G} million of this revenue would be paid by buyers in the form of higher prices.

{H) million of this revenue would be paid by sellers in the form of reduced income.

(I3 As a result of the tax, buyers will buy a smaller quantity than before the tax. If so. the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equal to million.
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(D) Buyers would spend a total of 52, { million on Greebes.
g J
{E) Sellers would reccive a total of 0 million (after tax} from selling Greebes.
{F) The government revenue from this tax would be szz‘ s million.
o 4 . " e
{G) ___/2____ million of this revenue would be paid by buyers in the form of higher prices.

b2 &
{H) # 73 million of this revenue would be paid by sellers in the form of reduced income.

(I} As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equal o #72,5 million.
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Relatively Inelastic Demand for Greebes as Compared with D, on Figure 21.4
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(D) Buyers would spend atotalof ________ million on Greebes.
{E) Sellers would receive a total of million (after tax} from setling Greebes.
{F) The government revenue from this tax would be __ _ million.
(G} million of this revenue would be paid by buyers in the form of higher prices.
{H) million of this revenue would be paid by sellers in the form of reduced income.

(I} As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
wncollected revenue loss would be equal o _ million.
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11} Buyers would spend atotal of _ _ _ million on Greebes.

{E} Sellers would receive a total of _ mullion {after tax) from selling Greebes,

(F} The government revenue from this tax wouldbe ___ million.
{G) million of this revenue would be paid by buvers in the form of higher prices.
Hy _ million of this revenue would be paid by sellers in the form of reduced income.

(17 As a result of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would beequalto ______ million.
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(D3} Buyers would spend a total of _ -? ? . million on Greebes.,

{E} Sellers would receive a total of ¢ /5 million {after tax) from selling Greebes,

L1F) The government revenue from this 1ax would be # /s~ . million.

@ 5

million of this revenue would be paid by buvers in the form of higher prices.

{Hj @0 raillion of this revenue would be paid by sellers in the form of reduced income.

(11 As a vesult of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected reverue loss would beequalto_ % 2S° million.
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(D2} Buvers would spend atotal of __ million on Greebes,
(E} Sellers would receive atotal of mullion {after tax) from selling Greebes,
[F) The government revenue from this tax would be e miillion.

(G} million of this revenue would be paid by buvers in the form of higher prices.

fHy ____ million of this revenue would be paid by sellers in the form of reduced income.

b As avesult of the tax, buyers will buy a smaller quantity than before the tax. If so, the sellers
would also have a loss of revenue that is not collected by the government. In this case, the
uncollected revenue loss would be equalto ____ million.




